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Choose the correct answer from the following:

1. The acceptable wavefunction is

a. W=sin x
c. W=x

b. W=tan x
d. W=cosec x

2. The phase velocity of a particle moving with a velocity v is
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3. The de-broglie wavelength of a paticle of mass ‘m” and kinetic energy E; is
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4. Which of the following is an eigenvalue equation of operator A and eigenvalue A?

a. A¥ = A b. AW = §¢
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C.A¥Y = =¥ d. ¥ = A¥
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5. Which of the following is correct?
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6. The normalization constant for a particle in 1D box in between length 0 to |1 with
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wavefunction ¥ = sin \—i-) is
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5 of quantum mechanics
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